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Approximation Questions for SBI Clerk Mains, IBPS Clerk Mains, 

RBI Assistant Mains, LIC AAO, SBI PO Pre, IBPS PO Pre and RRB 

Scale I Pre Exams. 
Approximation Quiz 41 
 

Directions: What approximate value should come in place of question mark. 
 

1. 34.99% of 499.896 + 27.99% of 1250.013 = 8 × ?   

A. 66   B. 42   C. 31   D. 20   E. 81 
 

2. 32.019 × 16.969 + 26.032 – ?% of 1800 = 240  

A. 32   B. 68   C. 54   D. 76   E. 44 
 

3. 48.88 × 3.06 + 70.09% of 60.23 – 11.986 × 2.919 + ? = 58.263  

A. 81   B. – 95   C. 97   D. – 83   E. 111 
 

4. (17.95)2 + 25.87% of 1201 – 
𝟓

𝟒
  of 728.16 = ? – (8.98)3 

A. 411   B. 433   C. 455   D. 476   E. 423 
 

5.  [{(155 ÷ 4) ÷ 12.96}]2 + 
𝟏

𝟐
 × (63.03 × 18.02) = (?)2 

A. 24   B. 39   C. 51   D. 14   E. 46 
  

6.  ? = (80.06% of 6449.89) ÷ 42.07 + 3605.99 

A. 3729  B. 3638  C. 3546  D. 3812  E. 3419 
 

7.  ? = 43.042 ÷ (3.065 + 6.02 × 98.89) + 61% of (360 × 13.07) = ? 

A. 3012  B. 2857  C. 2549  D. 2677  E. 3125 
 

8.  ? = 24.95 × (559.83 ÷ 13.91) – 40.01% of 779.79 + 6.012 

A. 512   B. 636   C. 724   D. 785   E. 596 
  

9.  ? = 14.06% of (44.06 × 51.98) – 1574.91 ÷ 63.05 – 1584.05 ÷ 36.03 

A. 336   B. 447   C. 289   D. 251   E. 412 
 

10.  ? = (13.09)3 – 26.932 + 30.97 × 10.89 – 21.03 × 17.96 

A. 1016  B. 1219  C. 1187  D. 1007  E. 1431 



 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

A C B C A A B C D E 
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Explanations: 
 
1.   34.99% of 499.896 + 27.99% of 1250.013 = 8 × ? 
 

8 × ? ≈  
35 

 × 500 +  
28 

 × 1250 
100 100 

 
8 × ? ≈ 175 + 350 
 

? ≈  
525 

 = 65.625 
8 

 
? ≈ 66 
 
Hence, option A is correct. 

 
 

2. 32.019 × 16.969 + 26.032 – ?% of 1800 = 240 
 
32 × 17 + (26)2 – ?% of 1800 ≈ 240 
 

544 + 676 –  
? 

 × 1800 ≈ 240 
100 

 
18 × ? ≈ 544 + 676 – 240 
 
18 × ? = 980 
 

? =  
980 

 = 54.44 
18 

 
? ≈ 54 
 
Hence, option C is correct. 

 
 

3. 48.88 × 3.06 + 70.09% of 60.23 – 11.986 × 2.919 + ? = 58.263 
 

49 × 3 +  
70 

 × 60 – 12 × 3 + ? ≈ 58 
100 

 
147 + 42 – 36 + ? ≈ 58 
 
? ≈ – 153 + 58 
? ≈ – 95 
Hence, option B is correct. 

4.    



 

(17.95)2 + 25.87% of 1201 –  
5 

 of 728.16 = ? – (8.98)3 
4 

 

(18)2 +  
26 

 × 1200 –  
5 

 × 728 ≈ ? – (9)3 
100 4 

 
324 + 312 – 910 ≈ ? – 729 
 
? ≈ 455 
 
Hence, option C is correct. 

 
 

5.  

[{(155 ÷ 4) ÷ 12.96}]2 +  
1 

 × (63.03 × 18.02) = (?)2 
2 

 

(?)2 ≈  ( 
155 

) 
2 
 +  

1 
 × 1134 

13 × 4   2 
 
(?)2 ≈ (3)2 + 567 
 
(?)2 ≈ 9 + 567 = 576 
 
? = 24 
 
Hence, option A is correct. 

 
 

6. ? = (80.06% of 6449.89) ÷ 42.07 + 3605.99 
 

? ≈  ( 
80 

 × 6450 )  ÷ 42 + 3606 
100 

 

? ≈  
5160 

 + 3606 
42 

 
? = 122.85 + 3606 
 
? = 3729 
 
Hence, option A is correct. 

 

 
 
7. ? = 43.042 ÷ (3.065 + 6.02 × 98.89) + 61% of (360 × 13.07) 

 



 

? ≈ 432 ÷ (35 + 6 × 99) + 61% of (360 × 13) 
 

? = 1849 ÷ (243 + 594) +  
61 

 × 4680 
100 

 

? =  
1849 

 + 2854.8 
837 

 
? ≈ 2 + 2855 
 
? ≈ 2857 
 
Hence, option B is correct. 
 
 

8. ? = 24.95 × (559.83 ÷ 13.91) – 40.01% of 779.79 + 6.012 
 
? ≈ 25 × (560 ÷ 14) – 40% of 780 + 62 
 

? = 25 ×  
560 

 –  
40 

 × 780 + 36 
14 100 

 
? = 25 × 40 – 312 + 36 
 
? = 1036 – 312 
 
? = 724 
 
Hence, option C is correct. 

 
 

9. ? = 14.06% of (44.06 × 51.98) – 1574.91 ÷ 63.05 – 1584.05 ÷ 36.03 
 
? ≈ 14% (44 × 52) – 1575 ÷ 63 – 1584 ÷ 36 
 

? =  
14 

 × 2288 –  
1575 

 –  
1584 

100 63 36 
 

? = 320.32 – 25 – 44 
 
? ≈ 251 
 
Hence, option D is correct. 

 

10. ? = (13.09)3 – 26.932 + 30.97 × 10.89 – 21.03 × 17.96 

 

? ≈ 133 – 272 + 31 × 11 – 21 × 18 



 

 

? = 2197 

– 729 + 

341 – 

378 

 ? = 2538 

– 1107 

 ? = 1431 

 Hence, 

option E 

is 

correct. 
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